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(1) 3™ Freedt (wefter)
(2) rery
(3) SHrREY
(4) Todrya
Options :
212807125717. 1
212807125718.2

212807125719. 3
212807125720. 4
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Question Number : 151 Question Id : 21280731531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Cell division itself a mode of reproduction in organisms like :

(A) Yeast

(B) Amoeba

(C) Paramecium

(D) Fruitfly

Choose the correct answer from the options given below :
(1) (A) Only

(2) (B) & (D) Only

(3) (D) Only

() (A), (B) & (O) Only
Options :

212807126121. 1
212807126122. 2
212807126123. 3
212807126124. 4

Question Number : 151 Question Id : 21280731531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

ifrent fasmmerT e # il @Y o woedt & 99
(A) =

(B) eydien

(C) HHifaas

(D) TR
frerfafiaa 9 @ W& Sa h =y Hifsm

(1) Faa (A)

(2) e (B) IR (D)

(3) wud (D)

(4) 9 (A), (B) 3 (C)

Options :

212807126121. 1
212807126122. 2
212807126123. 3
212807126124. 4



Question Number : 152 Question Id : 21280731532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The vegetative propagate in Agave is called :
{1) Leaf buds

(2) Offset

(3)  Bulbil

(4) Rhizome
Options :

212807126125. 1
212807126126. 2
212807126127. 3
212807126128. 4

Question Number : 152 Question Id : 21280731532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Uiy § fire god A wd ¥

(1) uF Hfcin

(2) i
(3) Herfere
(4) VHT
Options :
212807126125. 1
212807126126. 2

212807126127. 3
212807126128. 4

Question Number : 153 Question Id : 21280731533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In a typical angiosperm, the mature embryo sac is :
(1) 8 nucleated, 7 celled
(2) 7 nucleated, 8 celled
(3) 7 nucleated, 7 celled
(4) 8 nucleated, 8 celled
Options :
212807126129, 1
212807126130. 2

212807126131. 3
212807126132. 4



Question Number : 153 Question Id : 21280731533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

wsrread § us %E’T%:
(1) 8 sunfd, 7 nifer
(2) 7 swefd, 8 ifuy
(3) 7 swewfed, 7wy
(4) 8 sr*fed, 8 ifm

Options :

212807126129. 1
212807126130. 2
212807126131. 3
212807126132. 4

Question Number : 154 Question Id : 21280731534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Maximum number of male gametes produced from one pollen mother cell (microspore mother

cell) will be :

(1) Two

(2) Four

(3) Eight

(4) Sixteen
Options :

212807126133. 1
212807126134. 2
212807126135. 3
212807126136. 4

Question Number : 154 Question Id : 21280731534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

T eSS wey b & sifsan fad e S 8
n =

(2) =W

(3) o8

(4) HoE
Options :

212807126133. 1
212807126134. 2
212807126135. 3
212807126136. 4



Question Number : 155 Question Id : 21280731535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following hormone is not secreted by placenta ?
(1) Estrogens

(2) Progestogens

(3) Relaxin

(4) Human chorionic gonadotropin

Options :

212807126137. 1
212807126138. 2
212807126139. 3
212807126140. 4

Question Number : 155 Question Id : 21280731535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Pererferfiars & & o e & wranferm e @ &2
(1) T

(2) WFLRA

(3) TR

(4) Brg sy TREfe
Options :

212807126137. 1
212807126138. 2
212807126139. 3
212807126140. 4

Question Number : 156 Question Id : 21280731536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which one of the following is NOT the function of Leyding cells ?

{1) Synthesis Androgens

(2) Secretes Androgens

(3) Immunologically competent cells are present in it

(4) Stimulate secretion of some factors which help in the process of Spermiogenesis
Options :
212807126141. 1
212807126142. 2

212807126143. 3
212807126144. 4



Question Number : 156 Question Id : 21280731536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fresferfiaa § § 9 w gty efifen Aifvwer = o @ 82

(1) TGS eerwm

(2) T A

(3) wheredt ool wifirerd ufeer et &
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Options :

212807126141. 1
212807126142. 2
212807126143. 3
212807126144. 4

Question Number : 157 Question Id : 21280731537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one of the following is most widely accepted method of contraception in India ?
(1) Vasectomy
(2) Coitus interruptus
(3) IUDs
(4) Implants
Options :
212807126145. 1
212807126146. 2

212807126147.3
212807126148. 4

Question Number : 157 Question Id : 21280731537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fretfafad § 4 oY g nifdys gea v 8 adarg 37
(1) RS- FoET

(2) HIESY AT

(3) ¥ YU TrAwT

(4) sdady

Options :

212807126145. 1
212807126146. 2
212807126147. 3
212807126148. 4



Question Number : 158 Question Id : 21280731538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one among the following contraceptive, inhibits ovulation and implantation of female
reproductive system ?

(1) Oral pills

(2) Lippes loop

(3) <Condoms

(4) Tubectomy
Options :

212807126149. 1
212807126150. 2
212807126151. 3
212807126152. 4

Question Number : 158 Question Id : 21280731538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Fretfafad 4 & @ € s fafy sigse ol g seE o3 w1 Juo e €2
(1) yg@& =t mferw
(2) oo qu
3) frldw
(4) et I
Options :

212807126149. 1
212807126150. 2
212807126151. 3
212807126152. 4

Question Number : 159 Question Id : 21280731539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The genetic disorder caused due to presence of an additional copy of the chromosome number
21is:

(1) Down’s syndrome

(2) Klinefelter syndrome

(3) Turner’s syndrome

(4) Haemophilia

Options :

212807126153. 1
212807126154.2
212807126155.3
212807126156. 4



Question Number : 159 Question Id : 21280731539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

&g SIS T &l 21 F Jorgs )t wiafofe & o dar 2 .
(1) s fgm
(2) =onsT Howt fagm
(3) TR Figm
(4) ErErdfern
Options :
212807126153. 1
212807126154.2

212807126155. 3
212807126156. 4

Question Number : 160 Question Id : 21280731540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

In a garden pea, the axial flower is dominant to terminal flower. What will be the percentage of
offsprings with terminal flowers, when two heterozygous plants are crossed ?
(1) 25%

(2) 50%

(3) 75%

(4) 0%
Options :

212807126157. 1
212807126158. 2
212807126159. 3
212807126160. 4

Question Number : 160 Question Id : 21280731540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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1) 25%
2) 50%
@) 75%
4) 0%
Options :

212807126157. 1
212807126158. 2
212807126159. 3
212807126160. 4



Question Number : 161 Question Id : 21280731541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A classical example of mutation arise due to change in a single base pair of DNA is :
(1) Sickle cell anaemia

(2) Thalassemia

(3) Colour blindness

(4) Cystic fibrosis

Options :

212807126161. 1
212807126162. 2
212807126163. 3
212807126164. 4

Question Number : 161 Question Id : 21280731541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Ty Tt yfafeq safeds = s e & s grifiy 38 & R §2
(1) & P SR
(2) Serdfm

(3) &wiferan
(4) Tafes wgsifag
Options :

212807126161. 1
212807126162. 2
212807126163. 3
212807126164. 4

Question Number : 162 Question Id : 21280731542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The steps of DNA fingerprinting are given below. Arrange them in a correct sequence.
(A) Separation of DNA fragments by electrophoresis

(B) Hybridisation using labelled VNTR probe

(C) Isolation and digestion of DNA

(D) Detection of hybridised DNA fragments by autoradiography

(E) Transferring of separated DNA fragments to synthetic membranes
Choose the correct answer from the options given below :

1 Q). (B), (A) (E), (D)

2) &), (©), D), (B) E

(@) (O, (4), (), (B), (D)

4  (B) (B (D) (A), (€

Options :

212807126165. 1
212807126166. 2
212807126167. 3
212807126168. 4

Question Number : 162 Question Id : 21280731542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (&) (B), (A), (E), (D)
2) (&), (O, D) (B), (E)
(3) Q) (A), (B) (B), (D)
(4) (B) (E) (D), (A), (©

Options :

212807126165. 1
212807126166. 2
212807126167. 3
212807126168. 4

Question Number : 163 Question Id : 21280731543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - T with List - IL
List -1 List - IT
{A) RNA Polymerase I (I) 28 stRNA
{(B) RNA Polymerasel  ({II) hn RNA
(C) Ribozome (Il) 5 srRNA
(D) RNA Polymerase I (IV) 23 srRNA in bacteria
Choose the correct answer from the options given below :

(1) (A)ID, (B)-(1D), ©)-(1), (D)-(IV)

(2) (A, B)-IV), (C)-), (D)-(T)
(3)  (A)I), B)-(0), (COH1V), (D))
(4) (A) (IV), (B)-(IID), (C)-(II), (D)-(T)

212807126169. 1
212807126170. 2
212807126171. 3
212807126172. 4

Question Number : 163 Question Id : 21280731543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tl - 1% Joit - 114 firetrs w1
-1 e - 11

(A) RNA HiH 11 () 28 stRNA

(B) RNA diefsi1 () hn RNA

(C)  EsrsmEy (0I) 5 srRNA

(D) RNA Ui I (IV) 23 stRNA Sftery §

Frefeafiagg faad 4 O Ofr 3w &1 =949 $ifse .

(1) (A, (B)-(ID), ©)-1), (D)-(IV)
(2) (A0, B)-IV), (C)-(I), (D)-()
(3) (A, B)-[0), (O-1V), (D)-(I0)
(4)  (A)-IV), (B)-(IID), (O)-(IT), (D)-()
036169,

212807126171. 3
212807126172. 4

Question Number : 164 Question Id : 21280731544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The size of VNTR varies from :
(1) 01to20kb
(2) 02to10bp
(3) 0.1to10kb
4) 02to20kb
Options :
212807126173. 1
212807126174 2

212807126175. 3
212807126176. 4

Question Number : 164 Question Id : 21280731544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
VNTR 1 316R aftefia dran &

(1) 0.1 920kb
(2) 02¥10bp
(3) 01¥I10kb
(4) 02920 kb

Options :

212807126173. 1
212807126174. 2
212807126175. 3
212807126176. 4

Question Number : 165 Question Id : 21280731545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Brain capacities of Homo erectus was around :

(1) 900 cc

(2) 650 - 800 cc
(3) 1400 cc

(4) 650 cc
Options :

212807126177. 1
212807126178. 2
212807126179. 3
212807126180. 4

Question Number : 165 Question Id : 21280731545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




B geeaey I Afarsn SyHTf o

(1) 900 cc

(2) 650 - 800 cc
(3) 1400 cc

(4) 650 cc
Options :

212807126177. 1
212807126178. 2
212807126179. 3
212807126180. 4

Question Number : 166 Question Id : 21280731546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In Miller’s experiment, the closed flask contained :
(1) C,Hy Hy N,O and NH,

(2) CHy, H, NH, and H,0

(3) CH, O,, NO, and H,0

(4) CO, H,0, NH, and O,

Options :

212807126181. 1
212807126182. 2
212807126183. 3
212807126184. 4

Question Number : 166 Question Id : 21280731546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
frrert wdiam & oS yeren H ¥

(1) C,Hg H,, N,O 3 NH,
(2) CH, H,, NH, 3t H,0
(3) CH, O,, NO, 3t H,0
(4) CO, H,0, NH, 3RO,

Options :

212807126181. 1

212807126182. 2

212807126183. 3
212807126184. 4

Question Number : 167 Question Id : 21280731547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Select the factor which does not affect Hardy-Weinberg Equilibrium ?
(1) Genetic drift
(2) Mutation
(3) Genetic recombination
(4) Random mating
Options :
212807126185. 1
212807126186. 2

212807126187. 3
212807126188. 4

Question Number : 167 Question Id : 21280731547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

39 g2 o g9 Hify, faad el femat grereren gyifag @€ 2
(1) SAaifus syae

(2) weuieEda
(3) SR g e
(4) sifrafirg Aem

Options :

212807126185. 1
212807126186. 2
212807126187. 3
212807126188. 4

Question Number : 168 Question Id : 21280731548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List -1 List - IT
Disease Pathogen
{A) Pneumonia (Iy  Salmonella typhi
(B) Typhoid (II)  Plasmodium falciparum
(C) Malaria (IIT) Wuchereria bancrofti
(D) Filariasis (IV) Haemophilus influenzae

Choose the correct answer from the options given below :
(1) A0, (B)-IV), (O~1L), (D)-(I0)
(2)  (A)-IV), (B)(I), (O)-(ID), (D)~(1D)
(3)  (A)-(IV), (B)ID), (O)-(0), (D))
(4)  (A)-UD, (B)-(D), (O-(IV), (D)-(I)

Options :
212807126189. 1
212807126190. 2



212807126191. 3
212807126192. 4

Question Number : 168 Question Id : 21280731548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

AT - 1 g - 11 H e i)
-1 e

a T
(A) =peifrm 0 efaren e
(B) EHEEE (1) widferm ety
(C) wefn (1) gHfen Sshrfre

(D) wEafafay (Iv) Tedifrery Suoqdsh
fretfafag fawedl § 9 W& I 1 999 Fifed

(1) (A1), (B}-(IV), (O)-(IL), (D)-(I)

(2) (A)(IV)I(B)()()(I)()( I
(3) (A)-IV), (B)-(I1D, (O-0), (D)-(I)
(4)  (A)-ID, (B)}-(1), (O-(IV), (D)-(I)

Options :

212807126189. 1
212807126190. 2
212807126191. 3
212807126192. 4

Question Number : 169 Question Id : 21280731549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The symptoms of Elephantiasis :

(A) Inflammation of lower limb

(B) Scaly lesions on scalp

(C) Anaemia and blockage of intestinal passage

(D) Gross deformities of genital organs

Choose the correct answer from the options given below :
(1) (A) Only

(2) (B) and (C) Only

(3 (O and (D) Only

(4) (A) and (D) Only

Options :

212807126193. 1
212807126194. 2
212807126195. 3
212807126196. 4



Question Number : 169 Question Id : 21280731549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Bfequg 7 & e

() 4 * s F goA

(B) Tordrresr wx weshi Tamfoai

(C)  eraran 3R o urf w1 strereg

(D) S 1 goiferat fargpa @

Freafafiad forsrodl & € W sa o 9o il
(1) Faa (A)

(2) %9 (B) 3R (O)

(3) % (C) #IR (D)

(4 *FE (A) (D)

Options :

212807126193. 1
212807126194. 2
212807126195. 3
212807126196. 4

Question Number : 170 Question Id : 21280731550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Antibody molecule is made up of four peptide chain called as light and heavy chain are joined
together by :
(1) Peptide bond
(2) Phospho diester bond
(3) Glycosidic bond
{4) Disulfide bond
Options :
212807126197. 1
212807126198 2

212807126199. 3
212807126200. 4

Question Number : 170 Question Id : 21280731550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




yierferedl % o1y 9R s saenell § e 9 € Sl 5o § e § fyerat Wil siwen s €
(1) T=rEe &y
(2) HIERRERRET |y
(3) verrfafes |y
(4) SHRYTHEEE €Y
Options :
212807126197. 1
212807126198. 2

212807126199. 3
212807126200. 4

Question Number : 171 Question Id : 21280731551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - IT
(A) Wheat () ' Pusa shubhra
(B) Cauliflower (I) Himgiri
(C) Cowpea (III) Pusa sadabahar
(D) Chilli (IV) Pusa komal

Choose the correct answer from the opticns given below :
(1) (A)D), (B)-(ID), (C)-(ID), (D)-(IV)

(2) (A1), B)-(1D), (O-IV), (D)-()

(3)  (A)-(IID, (B)-(IV), (C)-(II), (D)-(I)

(4) (A)-1D), B)-(0), (C)-(1V), (D)-(II)
s 1
212807126202. 2

212807126203. 3
212807126204. 4

Question Number : 171 Question Id : 21280731551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Tl - 1% gt - 11 fydr &
gHt-1 gt - 11

(A) i O Egw

(B) irsf (n feafil

(Cy b (I 8T TEaER
(D) fus (IV) 1 e
Fretforfias Fasredi & & W <o &1 99 ik
(1) (A)-D, (B)-I), (C-(ID), (D)}(IV)

(2)  (A)-(D), (B)-(II), (O)-(V), (D)-(I)

(3) (A, (B)-(IV), (O)-(I1), (D)-(T)

(4) (A0, B)-O), (O)-0V), (D)-(I)
gll;t;())l;sl 2:6201. 1
212807126202. 2

212807126203. 3
212807126204. 4

Question Number : 172 Question Id : 21280731552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following is a wheat variety having high protein content ?
(1) Sonalika

(2) Atlas-66
(3) Jaya

(4) Ratna
Options :

212807126205. 1
212807126206. 2
212807126207. 3
212807126208. 4

Question Number : 172 Question Id : 21280731552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Fresfeafaa & 9 o € g * word § 9 v asn § 37
(1) drfer
(2) UTAH-66
(3) S
(4) T
Options :

212807126205. 1



212807126206. 2
212807126207. 3
212807126208. 4

Question Number : 173 Question Id : 21280731553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In mung bean, resistance to yellow mosaic virus and powdery mildew were induced by :

(1) Hybridisation
(2) Recombination
(3) Micropropagation

(4) Mutation

Options :

212807126209. 1
212807126210. 2
212807126211.3
212807126212. 4

Question Number : 173 Question Id : 21280731553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

7 5 o, i e fay au wiged favey & wfadeft e 36 faw U fem s g .
(1) HwEdwm
(2) qAEISE

(3) wawgHHH
(4) weafada
Options :

212807126209. 1
212807126210. 2
212807126211. 3
212807126212. 4

Question Number : 174 Question Id : 21280731554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - T with List - IL

List -1 List - II
(A) Aspergillus niger () Cyclosporin - A
(B) Trichoderma polysporum () Ethanol
(C) Lactobacillus (OI) Citric acid
(D) Saccharomyces cerevisiae (IV) Lactic acid

Choose the correct answer from the options given below :
(1) (A)-ID, (B)-(ID, (-, (D}IV)
), (O-(1v), (D)-(1)

(2)  (A)-D), By

(3) (A, B)-IV), (O-(I), (D)-(II)
(4)  (A)-(ID), (B)-(1), (O)-(IV), (D)-()
Options :

212807126213. 1
212807126214. 2
212807126215. 3
212807126216. 4

Question Number : 174 Question Id : 21280731554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

ol - T gt - 11 fiyear w1

-1 el - 11

weifsrerg frer () wrgweiedfeE - A
(B) erewiedl wefredy (m &
() Ry (mn fafew st

B ERIG RS e (Iv) @fFes o
Fretfafiad fasred § € W 3o &1 g9 il .

1 (A )(IH) (B )(H) (C) (D). (D} (IV)
(2)  (A)(D, (B)-(I), (CO-1V), (D)-(1

(3) (A0, (B)-(IV), (C) (ID), (D)- (IH)
(4) (A) (11D, (B)-(I), (O)-(IV), (D)-(I)

212807126213. 1
212807126214. 2
212807126215. 3
212807126216. 4

Question Number : 175 Question Id : 21280731555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following acts as bio fertilizer in paddy field ?
(1) Nostoc

(2) Rhizobuim

(3) Azospirillum

(4) Azotobacter

Options :

212807126217. 1
212807126218. 2
212807126219. 3
212807126220. 4

Question Number : 175 Question Id : 21280731555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

et freredi 8 @ T #Y ot F Sy e w1 wd wd §2
(1) e

(2) UESifaE
(3) Usrefiery
(4) TiERTRR

Options :

212807126217. 1
212807126218. 2
212807126219. 3
212807126220. 4

Question Number : 176 Question Id : 21280731556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The puffed-up appearance of dough is due to the production of :
(1) <Carbon dioxide gas
(2) Alcohol
(3) Acitic acid
(4) Oxygen gas
Options :
212807126221. 1
212807126222. 2

212807126223. 3
212807126224. 4

Question Number : 176 Question Id : 21280731556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




TRIEA SR, Uk & TR F FRU Fearsyy whig @rar &2
(1) o o sffeurs g

(2) Ui

(3) dfafew sra

(&) AfdsA

Options :

212807126221. 1
212807126222. 2
212807126223.3
212807126224. 4

Question Number : 177 Question Id : 21280731557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following steps of gel electrophoresis in correct sequence :
(A) Staining the DNA with ethidium bromide
(B) Movement of DNA fragments towards anode under an electric field through agarose
{(C) Exposure to UV radiation
(D) Separation of DNA fragments according to their size
Choose the correct answer from the options given below :
1) (B) (D) (A) (O
2 (©, &), D), B)
(3) (B (A) (O, D)
4)  (a) (D) (B) ©)
Options :
212807126225. 1
212807126226. 2

212807126227. 3
212807126228. 4

Question Number : 177 Question Id : 21280731557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




e geERrRR e & Freferfad v it w6 swaeg
(A) DNA = Uefifenm smee € sifyded =

(B) DNA gd @t Qs o) sufeufy o fagads § s ) i ™4
(C) s fafron § werk

(D) ELTAY, 0GP THF WP H ST YL
Freferfiad formedi & & W& 39 1 =97 i
(1) (B) (D), (A) (C)
(2) (©) (&), (D), (B)
3) (B (A){Q), D)
(4) (A) (D), (B), (O
Options :
212807126225. 1
212807126226. 2

212807126227. 3
212807126228. 4

Question Number : 178 Question Id : 21280731558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

If a scientist wants to recover many copies of the target DNA through recombinant DNA technology,
what augmentation need to be done in cloning vector ?

(1) Reduce cloning sites

(2) add crigin of reparation {ori) that support high copy number
(3) add more selectable maker
{4) add more cloning sites

Options :

212807126229. 1
212807126230. 2
212807126231. 3
212807126232. 4

Question Number : 178 Question Id : 21280731558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T I DNA &l F% § T@h YTied LA, aehie g1 o wfafafidan g s = 8, 38
Fentfi & fore s Had s ey

(1) et wa 9 w4

(2) sty wiafaft wa acl Foe (S8) =t Sem Tfu
(3) siftss aoreHss ST enfRy

(4) ot s et 1 sg e

Options :
212807126229. 1



212807126230. 2
212807126231. 3
212807126232. 4

Question Number : 179 Question Id : 21280731559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The cell wall of a bacteria can be removed by treated it with enzyme :
(1) Lysozyme
(2) Cellulase
(3) Chitinase
(4) Pectinase
Options :
212807126233. 1
212807126234. 2

212807126235. 3
212807126236. 4

Question Number : 179 Question Id : 21280731559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

ey #1 S fufa Y derem Y sifufiean & Franren =1 weren €
(1) dRESTEE
(2) SRl
(3) wERAS
(4) RIS
Options :
212807126233. 1
212807126234.2

212807126235. 3
212807126236. 4

Question Number : 180 Question Id : 21280731560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The gene encoding resistance to which antibiotic are considered useful selectable marker for
F. coli.

(A) ampicillin

(B) tetracycline

(C) kanamycin

(D) penicillin

(E) chloramphenicol

Choose the correct answer from the options given below :
(1) (A)and (D) only

(2) (B) and (C) only

(3) (O and (D) only

(4)  (A), (B), (O) and (E) only

Options :

212807126237. 1
212807126238. 2
212807126239. 3
212807126240. 4

Question Number : 180 Question Id : 21280731560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

999 E. coli 1 ST ifEn &, wfady & fore frg wiadet o sudn sfaa §
(A) ufewfafen
(B) Lgramir

(©) Famrafa
(D) ufsfafem
(B) st

Freaferfiae foreredl & & W Sw a3 il .
(1) F9d (A) %9et (D)

(2) F9d (B) %94 ()

(3) e (C) Fee (D)

(4) A (A), (B), (C) ad (E)

Options :

212807126237. 1
212807126238. 2
212807126239. 3
212807126240. 4

Question Number : 181 Question Id : 21280731561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value




|C0mprehensi0n |MCQ

Toxin of Bacillus thurengiensis is activated in insect by :
(1) Alkaline pH of gut

(2) Acidic pH of gut

(3) High temperature

(4) Mechanical action of gut

Options :

212807126241. 1
212807126242. 2
212807126243. 3
212807126244. 4

Question Number : 181 Question Id : 21280731561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

fgera RTa 1 snfasre frg =g gra wfrar G ¥ ?
(1) smereTefiss andy pH Wi W

(2) swEredt & et pH aH W

(3) 3ifyss drdsy W

(4) SRR Tl Y Al TR

Options :

212807126241. 1
212807126242. 2
212807126243. 3
212807126244. 4

Question Number : 182 Question Id : 21280731562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In RNAi genes are silenced by :

(1) ssRNA

(2) ss DNA

(3) dsRNA

(4) ds DNA
Options :

212807126245. 1
212807126246. 2
212807126247. 3
212807126248. 4

Question Number : 182 Question Id : 21280731562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




RNAi 7 i 9 fom s 8
(1) ssRNABA

(2) ssDNA G

(3) ds RNA &

(4) ds DNA BRI

Options :

212807126245. 1
212807126246. 2
212807126247. 3
212807126248. 4

Question Number : 183 Question Id : 21280731563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List-1T
(A) Cuckoo lays egg in crow’s nest (D Commensalism
(B) Orchid grows in mango tree () Parasitism
(C) Tickslive on skin of dogs (OI) Mutualism
(D) Species of Wasp and fig species (IV) Brood parasitism

Choose the correct answer from the options given below :
(1) (A1), (B)-(IV), (O-(1D, (D))
(2)  (A)-IV), (B)-(I), (O-(1D), (D)-(1)
(3) (A)-IV), (B)(I), (O-(II), (D)-(I)
(4) (A0, (B)-I), (O-(ID, (D)-(IV)

Options :

212807126249. 1
212807126250. 2
212807126251. 3
212807126252. 4

Question Number : 183 Question Id : 21280731563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




| - 1 1 WA - 11§ fer 6
AT - AR - I
(A) e 3793 35T gren ¥ Ko § @ 2 (
(B) siifdhe e1m & ¥g W wmard (
(C) & Y Far o coren ¥ e § (1) wErwetian
(D) =& siele % woa F weromor dren ¥ (
Frreiferfiae fasrodl § & W 99 =1 w57 wifo
(1) (A1), (B)-(IV), (O)-(1D), (D)-(II)

(L (v
(2)  (A)-AV), (B)-(1), (O)-(1D), (D)-(I1)
(3)  (A)-IV), (B)-(T), (O(II), (D)-(IT)
(4) (A, (By-II), (O-(1ID, (D)-(IV)
Options :

212807126249. 1
212807126250. 2
212807126251. 3
212807126252. 4

Question Number : 184 Question Id : 21280731564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Verhulst pearl logistic population growth is represented by the equation :

o &-n(5

Options :

212807126253. 1
212807126254. 2
212807126255. 3
212807126256. 4

Question Number : 184 Question Id : 21280731564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Rgee-vd A wHden g, g g welkla o 9t €

(1) %HN[K'N
@ &=
o @~

Options :

212807126253. 1
212807126254. 2
212807126255. 3
212807126256. 4

Question Number : 185 Question Id : 21280731565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The rate of decomposition is slower if :
(1) Availability of large amount of oxygen
(2) Warm and mwoist environment
(3) The detritus is rich in nitrogen and sugars
(4) The detritus is rich is lignin and chitin
Options :
212807126257. 1
212807126258. 2

212807126259. 3
212807126260. 4

Question Number : 185 Question Id : 21280731565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Foreret =Y wif <) &1 ot § 9f

(1) stfirep s A sitardiort Y Syerear 8

(2) e ot TR SeTER B

(3)  STUTE, SIS quT SThTHT wygr arn § @
(4) g, ¥ fafiaa au wefer g usn d &

Options :

212807126257. 1
212807126258. 2
212807126259. 3
212807126260. 4



Question Number : 186 Question Id : 21280731566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

An example of inverted ecological pyramid is :
(1) Pyramid of energy of forest

(2) Pyramid of energy of grassland

(3) Pyramid of biomass of sea

(4) Pyramid of number in a grassland

Options :

212807126261. 1
212807126262. 2
212807126263. 3
212807126264. 4

Question Number : 186 Question Id : 21280731566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
e wiRfeafis frufae o1 seman §

(1) &7 B St aren foafie

(2) =9 ¥ T ) Sl aten foofas
(3) THE F Sha Arg & S g frafhe
(4) w9 F Fer el ot aren fuafas

Options :

212807126261. 1
212807126262. 2
212807126263. 3
212807126264. 4

Question Number : 187 Question Id : 21280731567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who popularised the term ‘Biodiversity” that intends to describe the combined diversity at all the
levels of biological organisation ?

(1) Devid Harvery

(2) Sengar and Nicolson

(3) Edward Wilson

(4) Edward Jenar

Options :

212807126265. 1
212807126266. 2
212807126267. 3
212807126268. 4



Question Number : 187 Question Id : 21280731567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

foam S fafaern & o Y sruss fr, saet vafa dgaa fafavm =1 wgaa w9 @ Sfs dirst s o
St HE H o, 5y

(1 Sfaswd

(2) T ai Frpteraa

(3) Tzgas faeud

() Teas I

Options :

212807126265. 1
212807126266. 2
212807126267. 3
212807126268. 4

Question Number : 188 Question Id : 21280731568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following is not an In situ conservation approach ?
(1) DBiosphere reserves
(2) National parks
(3) <Cryopreservation
(4) Sacred groves
Options :
212807126269. 1
212807126270. 2

212807126271. 3
212807126272. 4

Question Number : 188 Question Id : 21280731568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frerforfad § M | e ST T e 98 37
(1) Sfaw 93

(2) T

(3) et ardry dogm

(4) ufes yga
Options :

212807126269. 1
212807126270. 2
212807126271. 3
212807126272. 4



Question Number : 189 Question Id : 21280731569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the following which plant is alse called “Terror of Bengal ?

(1) Parthenium

(2) Eichhornia

(3) Lantana

(4) Vallisneria
Options :

212807126273. 1
212807126274. 2
212807126275. 3
212807126276. 4

Question Number : 189 Question Id : 21280731569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frerfafag 6 @ ¥ 91 1Ry, S 1 3TdeE | 2
(1) oy

(2) sHifar

(3) =

(&) dfcrgfar

Options :

212807126273. 1
212807126274. 2
212807126275. 3
212807126276. 4

Question Number : 190 Question Id : 21280731570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Scrubber technology used in automobile to remove mainly which harmful gas from the exhaust
with the help of water spray or lime :

(1) Sulphur dioxide

(2) Selinium dioxide

(3) Phosphorus penta oxide

(4) Carbon dioxide

Options :
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212807126280. 4
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Observe the diagram and answer the following question.

= . ™

\. Y,

Which among the following cell produce the molecule shown in figure ?
(1) Active body cell

(2) T -lymphocytes

(3) B-lymphocytes

(4) Both B and T lymphocytes

Options :
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212807126282.2



212807126283. 3
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Observe the diagram and answer the following question.

\q

. Y,

The parts ‘P" and ‘(Y’ of the molecule are held by.
(1) <Covalent bonds
(2) Ionic bonds
(3) Phospho diester bonds
(4) Disulphide bonds
Options :
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Observe the diagram and answer the following question.

\q

. Y,

The cell which help/stimulate other cell in producing the molecule shown in diagram is :
(1) B - lymphocytes
(2) T - lymphocytes
(3) Neutrophils
(4) Macrophages
Options :
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212807126291. 3
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Observe the diagram and answer the following question.

\q

\. Y,

The type of immunity provided by the molecule shown in the diagram :
(1) Humoral
(2) Cell mediated
(3) Innate immunity
(4) Both humoral and cell mediated
Options :
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212807126296. 4
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Observe the diagram and answer the following question.

\q

\.

What is indicated ‘R’ in the diagram ?
(1) Light chain
(2) Antigen binding site
(3) Heavy chain
(4) Disulphide bond
Options :
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The following diagram shows an endospermic seed of Maize grain. Answer the following
question :

‘X’ developed from which part of angiospermic plant ?

(1) Ovary cell

(2) Zygote

(3) Sepals

(4) Petals
Options :

212807126301. 1
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The following diagram shows an endospermic seed of Maize grain. Answer the following
question :

The part which provides nourishment to the developing embryo is :

1) A
(2 Y
(3) B
(4) D
Options :

212807126305. 1
212807126306. 2
212807126307. 3
212807126308. 4
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Options :
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The following diagram shows an endospermic seed of Maize grain. Answer the following
question :

Options :
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212807126312. 4
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The following diagram shows an endospermic seed of Maize grain. Answer the following
question :

) A
(2 Y
) Z
) D



Options :
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The following diagram shows an endospermic seed of Maize grain. Answer the following
question :

Options :
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212807126320. 4
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Business Studies

Group Number : 11

Group Id : 212807735
Group Maximum Duration : 45

Group Minimum Duration : 45

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 200

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Business Studies

Section Id : 212807865
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 40

Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2128072493
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 201 Question Id : 21280731581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

People with different backgrounds perform diverse tasks in an organisation to achieve common
goal. What aims at guiding their efforts towards achieving a common goal ?
(1) Planning
(2) Controlling
(3) Coordination
(4) Management
Options :
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